2. ‘\\\’ ;‘311 /1;‘0:)4;
4 32' /\
unn 4 \')“"J.'T:wf
«
#
i 400 #
1,040 } 359 335
346 56.67 #
# " "(F-test)
" (t-test)
#
1 : #
# #
# B #
§o# #
4 303 84.40
56 15.60

25-30 2 0.9



1 (fia)

31-35
36-40
41-45

45

« »
lhi »
lhi »
lhi »

lh »

22
90
84
161

15
323
21

3l
%
31
28
22
151

1
284

6.13
25.07
23.40
44.85

418
89.97
5.85

8.64
26.74
8.63
1.80
6.13
42.60

111
19.78
719.11

46



5-9
10-14
15-19
20-24

5-9
10-14
15-19
20-24
25

3

46
64
92
64
43
50

12
38
14
86
142

223
136

251
108

1281
17.83
25.62
17.83
11.98
13.93

1.95
3.34
10.59
20.61
23.96
39.55

62.12
37.88

69.92
30.08

47



48

1 (a)
Vo
a » 3 «
1 1 28.29
2 60 23.90
3 16 6.38
3 104 41.43
1 ' laa  84.40 8
45 44 85 8§ 8997 «
| an g  26.74 : 10-14 3
25.62 [ I 25 3 39.55
a a 88 62.12



«

25-30
31-35
36-40
41-45

«

25 3

45

08

«

266
69

16
15
126
10
43

19
313

119
33

«

19.40
20.60

1.49
478
22.39
37.61
20.89
12.84

5.67
93.43
0.90

35.52
9.86

»

49



T lan
Thian

Thian

5-9
10-14
15-19
20-24
25 3

5-9
10-14
15-19

w

«

21
24
19
113

17
13
245

21
24
84
110
o1
39

88
64
92
53

38

8.06
1.16
5.67
33.73

5.07
21.79
13.14

6.27
1.16
25.07
32.84
17.02
11.64

26.21
19.10
21.46
15.82

50



2 ()
a
20-24
25 ilf
I/ /
«@
[
«
« [
1 «
2 «
3«
2 |
36-40  aa 37.61
1/ 35.52 /
32.84 o« i
I a Ta fa
[ 52.54

24
14

256
9

176
159

67
47
2
40

10-14 1

»

«

/'8

8

d

93.43

15-

1.17
418

16.42
23.58

52.54
47.46

38.07
26.70
12.50
22.73

19.40

«

19 1

27.46

76.42
1«

«

/

51



25
25-30
31-35
36-40
41-45
45

«

IfT

«

«

298
48

25
69
126
61
40

24
318

155
30

86.13
13.87

1.44
1.23
19.94
36.42
23.41
11.56

6.94
91.91
1.15

44.80
8.67

52



23
18
15
105

16
87
243

32
30
88
104
56
R

111
59
86
o4

6.65
5.20
4.33
30.35

4.63
25.14
70.23

9.25
8.67
25.43
30.06
16.18
10.41

32.08
17.05
24.85
15.61



20-24
25 I

tf« ««

10
10-15
16-20
21

24
12

»

268
18

181
93
50
22

145
43
150

6.94
3.47

17.46
22.54

52.31
26.88
14.45

6.36

41.91
12.43
43.35

2.31

o4



36-40 3.4
0 4480
30.06 {

10

55

0 0 86.13
0 9191
15-19 It 0
51 0 3208 0
17.46 If



56

2 €« a « «

« «

N=39 N=33% N=346 N=1040 F
X SDb. X SD. X SD. X SD.

«

T 2.63 068 2.76 0.75 2.73 0.75 2.70 0.73 3.20*
« 269 067 280 0.76 2.77 0.77 2.5 0.74 2.24

«
3.01 0.60 3.11 0.76 3.14 0.57 3.09 0.65 3.84*

3.09 057 321 0.71 3.21 0.67 3.17 0.66 4.20*

nm .,
L 1 rty3.08 0.68 3.16 0.70 3.15 0.64 3.13 0.68 1.46



5/

) «

N = 359 N =335 N=346 N = 1,040 F

X sDb. X SD. X SD. X S.D

6.
« 3.06 0.53 3.18 0.67 3.11 0.52 3.11 0.58 3.45*
7. «
«
2.91 0.75 2.99 0.70 3.01 0.55 2.97 0.67 2.04
8. »
«
« 2.87 0.64 3.02 0.71 3.00 0.67 2.96 0.68 4.64*
9.

3.04 0.64 3.25 0.75 3.20 0.65 3.17 0.69 9.17*

3.27 0.48 3.40 0.60 3.39 0.46 3.35 0.52 7.12*

*p < .05 (.05 Fg 1 gg7 =(+13.00)



1,3,4,6,8

9

05

»

«

05

58



df
2
1,037
1,039
% < .05 (.05 Fe.1.037 =+ 3.00)
5 3 (F)
(F)
3 a3

SS

3.75
213.51

2117.32

«

«

Vb

1.88
0.26

1.12*

05

59

05



*p < .05 (.05 Fg,1,037

.05

«

3.27
3.39

3.40

=i 3.00)

«

.05

3
3.27 3.39 3.40
0.12* -
0.13* 0.01

60

»



»

t

61

N=359 N=33%5 N=346 N 1040 F
X SD. X ] X SD. X SD.

297062304 0.66 3.00 071" 3.03-0.66 311

3.33 0.59 3.43 0.56 3.52 0.61 3.43 0.59 9.44*

3.04 0.60 3.13 0.54 3.16 0.64 3.11 0.60 4.50*

3.19 057 3.26 0.57 3.31 0.60 3.25 0.58 3.43*

3.16 0.54 3.25 0.56 3.27 0.61 3.23 0.57 4.07*

3.10 0.59 321 0.58 3.23 0.61 3.18 0.60 5.31*



N

X
7.

! 3.08

8.

3.18
9. ?

2.91
10.

2.81

3.08

*p < .05 (.05 Fe 1037 =

0.66 3.20

0.61 3.30

0.59 3.07

0.71 2.93

0.43 3.18

+ 3.00)

0.62

0.59

0.59

0.62

0.41

3.24

3.32

3.15

3.00

3.23

346 N = 1,040

S.D.

0.64

0.62

0.64

0.72

0.48

X

3.17

3.27

3.04

2.92

3.16

S.D.

0.64

0.61

0.62

0.69

0.45

62

F

5.83*

5.63*

15.07*

6.94~

11.23*



63

1*3 afa aa

aa aa aa 2 a



*p

< .05 (.05 Fe>1.0.,

(F)

df

2

1,037

1,039

= + 3.00)
3 ()
a
aa

4.42

203.96

208.38

2.21

0.20

11.33*

.05

64

.05



9 H | «
a In
X 3.08 3.18
3.08
' 3.18 0.10
3.23 0.15* 0.05
*n < .05 (.05 F1 1 037 =i 3.00)

9

«
m
.05

.05

3.23

65



10
3
a
3
3
a
au
aa  «
33
aw
{
3
au
aa
9

1
N m 359
X S.D.

N

X

335

S.D.

*

N =

X

"8

346

S.D.

a
N = 1,040
X S.D.

86

F

3.09 0.61 3.31 0.56 3.35 0.54 3.25 0.58 22.13*

3.23

3.15

3.16

3.13

3.15

0.57

0.58

0.52

0.55

0.62

3.37

3.30

3.26

3.25

3.33

0.60

0.56

0.60

0.54

0.58

3.42

3.32

3.32

3.32

3.42

0.55

0.53

0.50

0.54

0.55

3.34

3.25

3.25

3.23

3.30

0.58

0.56

0.55

0.55

0.59

9.88*

10.21~

7.46*

11.04*

19.26*



67

10 ()
l *
N = 359 N = 335 N =346 N = 1,040 F
X S.D X S.D. X S.D. X S.D
7. « |
?
3.12 0.62 3.30 0.60 3.32 0.59 3.24 0.61 11.49*
8. .
3.23 0.56 3.36 0.57 3.31 0.52 3.30 0.55 4.91*
9.
»! 3.08 0.70 3.21 0.70 3.25 0.63 3.18 0.68 6.55*
10.
a
3.15 0.57 3.33 0.56 3.36 0.53 3.28 0.56 14.37*
11.
a
3.20 0.67 3.35 0.54 3.41 0.62 3.32 0.62 11.08*
3.15 0.44 3.31 0.43 3.35 0.38 3.27 0.43 20.79*
*

P .05 (.05 Feo g; + 3.00)



10

»

»

.05

»

»

.05

68



11

«

«

«

«

*D < .05 (.05 Fe<1<037

«

«

«

11

(F)

0 «

df

1,037

1,039

+ 3. 00)

«

avi (F)

ai

12

KK«

7.25

180.86

188.11

«

«

«

3.63

0.17

69

8
F
20.79¢
.05
ya
.05



10

12 « « »
il
« »
X 3.15 3.31 3.35
3.15
3.31 0.16 — —
» 3.35 ogs* 0.04 )

% < .05 (.05 Fe.1,037 =i 3.00)

12 « «
» V
« « « » «
« « « » » «
.05 » « « « «

« 05



13

«

1

;o Mlavl” « o«
au

«
1
NiI=359 N=33% N=346 N=1040 F

X SD. X SD. X §D. X SD.

- &

3.08 0.68 3.05 0.75 3.07 0.61 3.07 0.68 0.10

3.13 0.65 3.15 0.68 3.18 0.57 3.15 0.64 0.55

3.09 0.68 3.27 0.63 3.30 0.56 3.22 0.63 12.14*

«

2.67 0.78 2.75 0.714 2.72 0.66 2.711 0.73 1.17

3.02 0.76 3.21 0.66 3.26 0.60 3.16 0.69 12.57*

3.08 0.77 3.18 0.73 3.15 0.62 3.13 0.71 1.95



12

13 ()
N=39 N=35 N=346 N=1040 F
X §D. X SD. X SD. X SD.
7?7 dm] ?
?
2.34 0.80 2.32 0.85 2.35 0.74 2.34 0.80 0.13
8.
? « 292 0.77 3.09 0.66 3.15 0.57 3.05 0.68 10.94*
9.
it
2.92 0.72 3.08 0.70 3.10 0.66 3.03 0.70 7.62*
10. ?
? 217 0.78 2.94 0.73 2.98 0.64 2.89 0.738.89*
11,

2.94 0.72 3.18 0.67 3.19 0.59 3.10 0.67 15.68*

2,90 0.58 3.02 0.54 3.04 0.42 2.99 052 7.21*

% < 05 (05 Fe 1037 = + 3.00)



«

.05

6

13

3,9,8,9,10

«

11

05

13



14
I
df
2
1,037
1,039
% < .05 (.05 Fe<1.037 =+ 3.00)
14 ' (F)
(F)
! i( (
.05
3 al

3.87
278.11

281.97

Vb

1.93
0.27

1.21*

14

05



15 «
«
X
s 2.90
Y 3.02
« 3.04
*p < .05 (.05 Fe>14037 =i 3.00)
15

«

«

«

«

LK«

2.90 3.02
0.12
0.14* 0.02
«
«
.05 '

.05

«

3.04

«

«

5



16

16 1] n «

<

{ N-39 N=3% N=346 N=1040 F
X S§D. X SD. X SD. X SD.

L[
{(
325 0.70 332 057 3.34 053 3.30 0.60 2.05
2. A
{(
| 3.6 0.73 3.24 052 325 0.52 3.21 0.60 2.7
3.
{(
{1 3.04 0.78 3.13 0.60 3.3 0.58 3.10 0.66 2.27
Al {
{(
{( 313 0.75 324 055 327 0.54 3.21 0.62 497
5,

3.24 0.71 3.35 0.55 3.40 0.52 3.33 0.60 5.75*

3.01 0.73 3.05 0.55 3.06 0.64 3.04 0.65 0.60



1

16 ()

*
N=39 N=33% N=346 N=1040 F
X SD. X SD. X SD. X SD.

1.
3.11 0.74 3.19 0.54 3.24 0.50 3.18 0.60 3.96*
8.
/
2.54 092 251 0.73 2.56 0.72 2.54 0.80 0.30
9.
/
, 3.15 0.84 3.30 0.56 3.36 0.63 3.27 0.70 8.86*
10.
ff
2.91 0.77 3.06 0.62 3.04 0.62 3.00 0.68 5.17*
11,/

3.15 0.80 3.18 0.56 3.19 0.55 3.17 0.65 0.36

3.06 0.63 3.14 0.40 3.17 0.37 3.12 0.49 4.44*

* < .05 (.05 Feyosr, 13.00)



»

.05

16

18

»

« »

« 05

4,5,1,9 10



17

df
2
1,037
1,039
%) < 05 (05 FE.1.037 =+ 3.0
17 (F)

(F)

05

18

SS

2.09
244 42

246.52

HS

1.05
0.24

4.44*

19

05



18 ala « | a

X 3.06 3.14
3.06
3.14
3.17 0.11* 0.03

*p < 05 (05 Fe 1.037 :i 3-0°>

18 a a

8 05

3.17

61

80



61

19 » 2 "lavi"

» » MN

1 !
§  N=39 N=3% N=346 N=1040 F

! X §Db. X SD. X SD. X SD.

Simla

«

a 3.09 053 3.25 0.53 3.27 0.50 3.20 0.52 13.83*

» 3.02 052 3.10 0.57 3.13 0.51 3.08 0.54 3.87*

3.06 0.52 3.10 0.56 3.15 0.52 3.10 0.54 2.65

3.11 0.64 3.21 0.59 3.23 0.56 3.18 0.60 4.25*

2.95 0.61 3.07 0.65 3.11 0.60 3.04 0.63 6.29*

2.78 0.61 2.83 0.65 2.84 0.64 2.81 0.63 0.82



82

19 ()

N=3% N=3% N=346 N=1040 F
X §D. X §SD. X SD. X SD.

2.82 0.66 2.93 0.65 2.90 0.62 2.88 0.64 2.54

2.92 0.78 3.04 0.65 3.05 0.53 3.00 0.67 4.00*

297 0.46 3.07 045 309 041 =_ .  7.00*

*p < .05 (.05 Fe 1037 =+ 3.00)

19

05 an

5 1,45 8



63

20 118 « «« « rfa

« df SS Vb F

2 273 136  7.00%
1,037 20183  0.19

1,039 204.55
*p < 05 (.05 Fe<1.037 =i 3.00)
20 (F) «

«a (F) « 8 05

« « « «« « « 8

« 3a a 8



21

«

-

* < .05 (.05 Fe 1037 =+ 3.00)

21

05

05

2.91
3.07
3.09

2.91

010"
0.12*

«

itful

3.07

0.02

3.09

«

84



«

22

«

(1

{

85

«K »

9 9
N=39 N=3% N=346 N=1040 F

X §D. X SD. X SD. X SD.

3.00 0.83 3.21 0.66 3.20 0.57 3.14 0.70 10.127

3.13 0.84 3.32 0.54 3.27 0.56 3.24 0.67 7.72*

3.17 0.78 3.35 0.54 3.36 0.54 3.29 0.64 9.64*

3.14 0.80 3.33 0.57 3.30 0.54 3.25 0.65 9.01*

3.25 0.82 3.43 0.58 3.43 0.54 3.37 0.67 8.42*

3.29 0.79 3.48 0.54 3.45 0.52 3.40 0.64 9.19*



86

2 ()
N=3%9 N=35 N=346 N=1040 F
X §D. X SD. X SD. X SD.
I,
3 3.35 0.78 3.51 0.54 3.48 0.53 3.44 0.63 6.62*
8I 1

{« 333 094 350 0.64 3.47 0.51 343 0.73 4.92*

3.21 0.72 339 0.45 3.37 0.42 3.32 0.56 11.48*

* < .05 (.05 Fe 1037 =+ 3.00)

22



23

»

»

»

1

1

< 05 (.05 Fe 1037 = + 3.00)

05

»

«

05

»

»

df

2
037

039

24

»

»

1.01
316.59

323.59

87

» 9
F
350 1148
0.31
»
»
«
» 9 »



24 | m « «« |
« «
X 3.21
3.21
3.37 0.16*
« 3.39 2%g”

< 05 (05 FE 1037 = +3.00)

24 «
« €«
€« « «
€« « «
« 05
« .05

«

3.37

0.02

«

«

3.39

«

«

«

«

88



25

89

"8 " ««

N=39 N=35 N=346 N=1040 F
X S§Db. X §D. X SD. X SD.

3.19 0.86 3.30 0.55 3.32 0.54 3.27 0.67 4-06*

3.15 0.78 325 052 3.23 0.51 3.21 0.62 291

3.15 0.85 3.23 0.53 3.22 0.51 3.20 0.65 1.72

3.03 0.79 3.08 0.53 3.14 0.50 3.08 0.62 2.94

2.97 0.79 3.03 0.57 3.03 0.59 3.01 0.66 0.98

3.07 0.79 3.16 0.54 3.14 0.55 3.12 0.64 1.90



90

25 ( a)
?
N=39 N 33 N=346 N=1040 F
X SD. X SD. X SD. X SD.
1.
3.06 0.84 3.09 0.61 3.14 0.57 3.10 0.69 1.29
8.
6l a
3.08 0.80 3.10 0.62 3.13 0.55 3.10 0.67 0.55
9.
3.36 0.82 3.47 0.64 351 0.53 3.44 0.68 4.27*
10. la
3 a 3.17 0.82 3.21 0.62 3.26 0.59 3.21 0.69 1.55
11. au

da a 306 094 318 0.67 3.19 0.49 3.14 0.73 3.59*

3.12.0.70 3.19 041 3.21 038 3.17 0.52 3.24*

D <05 (05 Fpyoar  +300)



.05

25

19

11

.05

91



26 8

« au
df %3

2 176 0.88
1,037 28133 027

1,039  283.84

% < 05 (05 Fe 1037 =+ 3.00)

26 (F) «

05

ad

92

3.24%



*p < .05 (.05 Fe.1,037 = + 3.00)

»

21

»

21

«

83

3.12
3.19

3.21

.05

.05

«

3.12

0.09*

»

3.19

0.02

»

93

»

»

3.21

»



94

28 » " " 0 »
» 8 « a

»

» !
» N=359 N=33% N=346 N=1040 F
X SD. X SD. X SD. X SD.

»

sfa 3.27 0.48 3.40 0.60 3.39 0.46 3.35 0.52 7.12*
3.08 043 3.18 0.41 3.23 048 3.16 0.45 11.23*
a 3.15 0.44 3.31 0.43 3.35 0.38 3.27 0.43 20.79*

2.90 0.58 3.02 0.54 3.04 0.42 2.99 0.52 7.21*

«

3.06 0.63 3.14 0.40 3.17 0.37 3.12 0.49 4.44*

»

2.97 046 3.07 0.45 3.09 0.41 3.04 0.44 7.00*

»

» 321 0.72 3.39 0.45 337 0.42 3.32 0.56 11.48*



9%

8 ()

N=39 N=35 N=346 N=1040 F

X SD. X SD. X SD. X SD.

3.12 0.70 3.19 0.41 3.21 038 3.17 0.52 3.24*

3.09 0.41 321 0.37 3.23 0.34 3.18 0.38 13.56

%) < 05 (.05 Fe.1.087 =i 3.00)

28 » « (



29

df
2
1,037
1,039
*p < .05 (.05 F1 1 037 = + 3.00)
29 | (F)

05

30

K «

3.81

145.64

149.45

1.90

0.14

13.56*

.05

9%



o7

30 am a
a
a
X 3.09 3.21 3.23
3.09 ,
N *
3.21 8.12
q 3.23 0.14" 0.02 _

% < 05 (.05 Fell037 =+ 3.00)

0 as

05
05



31 «

« «

«

«

1
«
« [«
«
«
« «

« «

« « «

« «

« «

« «

N = 155

« «

«

N = 191

2.88

2.86

3.17

3.22

3.20

3.21

3.03

3.02

S.D.

0.82

0.85

0.51

0.60

0.66

0.51

0.53

0.70

2.64

2.13

3.15

3.20

3.14

3.05

3.01

2.99

S.D.

0.65

0.69

0.62

0.60

0.60

0.47

0.57

0.63

«

2.96

1.55

0.31

0.29

0.74

2.88

0.24

0.42

%



a ()

“0 < 05 (.05 t3" =+ 196)

3l
3
1
2
3.
«
1
2.

«

9%

» »
N = 155 N =191
X SD. X SD.

335 0.63 310 064 3.58*

346 043 335 045 213"

™



«

«

«

«

1,6

«

«

«

«

«

«

«

.05

.05



32

« «

«fa

N 155

«

N = 191

X SD.

3.15 0.77

«

33 3 3.65 0.67

321 0.71

3 341 0.68

3.34 0.69

3.30 0.70

! 3.32 0.66

3.36 0.72

325 0.72

X

3.04

3.42

3.12

3.21

3.22

3.21

3.19

3.30

3.09

S.D.

0.65

0.53

0.57

0.51

0.54

0.52

0.62

0.54

0.56

101

1.46

3.31%

1.30

3.01*
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X SD. X SD.
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349 055 337 055 1.96*

339 052 325 054 243*
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, 329 055 333 053 -0.69
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3.14

3.24

2.70
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S.D.
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0.55

0.55

0.66

0.59

0.61

0.75

0.59
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0.96
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3.19 058 3.07 059 1.85
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3.33 0.51 3.23 0.47 1.85

3.18 0.52 3.09 0.49 1.60

3.23 0.49 3.10 0.54 2.25*

3.28 0.55 3.20 0.58 1.24

3.17 0.54 3.08 0.65 1.45

* 2.88 0.62 2.80 0.67 1.09
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